Relations and Scaling : Review Problems

1. Using the table below:
a. Determine the proportionality statement between A and B.
b. Determine the equation relating A to B (i.e. put your equation in the form B=...).
c. Find the value for B when A = 213 (a whole number answer is fine).
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2. Find the equation relating the data in the chart below. Express your answer in two ways (i.e. P=777
and d =??). In both cases show your units on your constant of proportionality (k).
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3. An experiment produced the set of values shown below for separation (d} and energy (E). A graph was

also drawn of E versus d. Determine an equation relating E and d.
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4. When a mass is placed on the free end of a board, the end is deflected downwards. The following

table shows the downward deflection (d) corresponding to various lengths of board, as measured in

each experiment. Fach deflection was produced by the same mass.

Length of board (L) Downward Deflection (d) a.Determine the proportionality
{m) {cm) relationship between d and L.
10 0.4 b. Determine an equation relating d and L.
2.0 392 c. Predict the deflection when the board is
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6. If can be shown that the kinetic energy (E,) of a moving car is proportional to the square of its

velocity, i.e. Ekuvz.
a. What is the car’s £y at 270 km/h?
b. What is the car’s E, at 45 km/h?

c. What is the car’s velocity when it's E, is 16 units?

At 90km/h, a certain car’s E, is measured as 400 units.
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